Chapter 6

Section 6.1 Graphing Linear Inequalities in Two Variables

Linear Inequalities

Graph the solution set for this
inequality
y<x+4

2. Graph the solution set for
this inequality
y=2x—1

Graph the solution set for this
inequality

>4 +2
y 3x

Graph the solution set for this
inequality
-y < —6x+3

5. Graph the solution set for
this inequality

<1 1
y<3x

Graph the solution set for this
inequality
-y < —6x+3

Graph the solution set for this
inequality
x—y<3

8. Graph the solution set for
this inequality
3x—2y+3<0

Graph the solution set for this
inequality
2x+y+1=0

10.

Graph the solution set for this inequality
{,Mly—3=—-x,x€Zy€eT}

11. Graph the solution set for this inequality
{(x,y)|—4x—-8>4,x R,y €ER}

12

. Graph the solution set for this inequality
{G,)|x—y>-3,x€R,y€eR}

13. Graph the solution set for this inequality
{,x—3>-y,x e W,y e W}

14.

Graph the solution set for this inequality
{(x,y)ly> —2x+8,x €Zy e}

15. Graph the solution set for this inequality
{(x,»)2—y=5y+2x+12,x e W,y € W}

16.

Graph the solution set for this inequality
{(x,Ix+6y—14<0,x €Ly €L}

17. Graph the solution set for this inequality
{(x,y)|5x —y <4,x e W,y e W}

18.

Graph the solution set for this inequality
{(x,»I2x+2<5x€eR,y€ER}

19. Graph the solution set for this inequality
{(x,y)]4x — 5y < 10,x € R,y € R}

Assignment

pg. 303 #4,6(a, b, c,d), 7,9, 12

Quiz: Next Day!



